
 

Tekst 2  Schränken Rauchverbote das soziale Leben ein? 

7 C 

8 maximumscore 1 
Man knüpft 

Acceptabel: 
Denn: 70 / Denn: 70 Prozent / 70 Prozent 

9 D 

Vraag Antwoord Scores


	   C 
	   maximumscore 1 
	   maximumscore 1 
	   B 
	   B 
	   maximumscore 1 
	   C 
	   maximumscore 1 
	   D 
	   maximumscore 2 
	   D 
	   D 
	   maximumscore 2 
	   maximumscore 1 
	   maximumscore 1 
	   A 
	   A 
	   B 
	   A 
	   A 
	   C 
	   maximumscore 1 
	   maximumscore 1 
	   A 
	   C 
	   maximumscore 1 
	   D 
	   A 
	   C 
	   A 
	   C 
	   A 
	   C 
	   D 
	   A 
	   C 
	   maximumscore 1 
	   D 
	   A 
	   maximumscore 2 
	   C 
	   maximumscore 2 
	   maximumscore 1 

